RN BRI IRAEYI B A M

PB19061245 F ¥t

February 2024

1 n Ak ]

Example 1.

—Au=f, inQ)
(PuD) Ju

U|FO = 0, %’Fl =g (89 = Fg L Fl)
SR 43 LA,
1. To#£0: 4V ={ve H(Q) : v|r, =0}, ic

a(u,v) := (Vu, Vv) = / Vu - Vod)
Q

Fv) = / fodQ +/ guds
) Ty
) (W)Findu € V s.t.a(u,v) = F(v),Yv € V

2.Tg=0: 45 V=4{veH Q) :v= @fﬂde =0}. ZoEs
AL



2 YR

Fig 5.1

FERIAN A — T HE 5 (KR B T Johnson Hbf 5.1 7).

% A2 [ & 1 [ PR SRR, SRR Ty, Ty PR, o Ty
[ E . BRI BT 1143 R volume load f = (f1, fa, fs) , PAJ% boundary
load g = (g1, 92, 93) -

FATHEEERMFE = v = (wr, ug, uz)™, Ko wi Ry oy Tyl S &, DAK
XFRR ISR ERE o (u) = (03)ij-123 FABNIRE Sy, HAR NI
J1) -

T SIBALFERE €(u) = (€55(u))ij=1,23,

2 Or;  Ox;

€i(u)



Example 2. (2 {PE5:[a)80)
80’2']'

PR - — fii inQ

ox;
j J

PAVERERE 045 = Adivu 6y + peij(u),  inQ

u=0, only

Zaijuj =g;, only
\ J
H: H, v = () REAISNETR.
R, 5IALES: v; = Bac =7 =1,2,3 . F4b, WEENF M 5K
BEERENFRER o, 0ij€is () = 5 2, (0005 +05iv55) = 3, 5 0ijvig

/Zfzvde: —/ZO'Z']‘JUidQ
Q Q i
:/Zaijvijdﬂ—/ ZO’ijUideS
Q ij o0 ij
:/Z()\dli}u&]—f—/LGZJ(U))EZ](U)dQ—/ Zvigids
—)\/dzvudwvdﬁ—i-u/Ze” w)€;;(v)dQ — / Zvlglds
Q

HS V = {v € Hl(Q) : vlp, = 0}, a(u,v) = A [, dive divedS +

1 fo >0 €ii(Wei (v)dQ, L(v) = [ 32, fividQ + [i 3, givids, 15728531
il

(W)Findu € V s.t.a(u,v) = F(v),Yv € V
BRI Vi, ={ve (HY(Q))?:ve (PY(K))3VK;v|r, = 0}.
(Wh)Finduy, € Vi, s.t.a(up,v) = F(v),Yv € V,

3



3 Stokes A 0]

Example 3.
—,uAul—i—@ = fl,l = 1,2,3
8;&;
divu =0 nQ (A EH)
u=0 onl
dp
Q 9) o O

:u/ Vui-VvidQ—/L/ vi%ds—l—/ pv,;yids—/pvi’idQ
Q oo OV oQ Q

PRI @ SRAIH R L5 26 A SCRURE N O 25 4F,

3 3
> / froidQ = p / Y Vu, - Vo
i=1 /& Q50

Hitt, &V = {v:v e (Hy(Q)> divo = 0}, a(u,v) = p [, Zle Vu; -
VuidS, F(v) = o iy frvidS, 253 11

(W)Findu € V s.t.a(u,v) = F(v),Yv € V

FATHE, SeiFmEY v 2 i, 24 HACY v TEATAT— SUmRAr
fEm R Bl dive = 0 <= J[&EH, v = roto.
XEERATAIRE Vi By {v € V2 3¢ € HIRGEZERW, C HF(Q)st.v =
rotg}
Ak, AT 2SR R A — Bk g HE5 ] 7 — 28k
A RICITEFE S HRBEX NI T (R EEFA AT DAA BEIT VY
iE X )



	n维椭圆问题
	线性弹性问题
	Stokes流体问题

